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Instru tions: To receive credit for all answers, show all work clearly in the space provided. You may use
graplhmg calculators. This is designed to be a 50 minute test.
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4, Sugpose that f(x) = #+10 i x<3
—x+25 ifle>3.
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object moving in a straight line is given by the equation
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L Use the definition of a derivative to find f
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1. Let f(x)=x*e>
a. | Find f'(x).
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&Work clearly in the space provided:’

> equation of the tangent line to the curve y = f(x) at x=4.
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2. Find the acceleration for a particle moving in a straight line if the position function is

ﬁ(z‘) = cos( 2t + e ).
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ladder 20 feet long rests against a vertical wall If the bottom of the ladder slides away from the wall at a
rdte of 2 ft./second, how fast is the top of the ladder sliding down the wall when the bottom of the ladder is 6

feet from the wall?
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5. The circumference of a circle is measured at 1000 + 3 cm. Calculate the area of the circle with an estimate
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for the error using differentials.
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In problems 6 — 10, calculate the derivative of y with
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respect to x.
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'lnstructlons To recelve credlt for all answers, show all work clearly in the space provlded

. Fmd the d1mens1ons of a steel cyhnder of surfa\,e of 2000 sq ft, closed-top that has maximum volume
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O determme the produetlon level x that w111 maximize profits.
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* Show all work for credit purposes.
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1. Evaluate the Rlemann sum for f(x) = 4x> + 5 on 2<x< 6; with four subintervals, takin.g.the sample
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4. Find the area from x=1 to x =35, between the x-a
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5. Calculate the area bounded by the curves y = (x -2
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. Calculate the following. E
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8. Flnd the denvatlve of the followmg function of x f tan(4¢ +5)° dt
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9. A pamcle is moving in a straight line with a veloc ity of 5t-10 feet per second from t= 3 to t=6 seconds.
How far has the particle moved during that 2 second interval?
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